國立嘉義大學102學年度基礎學科學力競賽試題卷

科目：  經  濟  學        題型：選擇題(共25題)      配分：100%
(  ) 1. In every economic system, choices must be made because resources are ________ and our wants are ________.
(A) unlimited; limited    (B) limited; limited    (C) unlimited; unlimited

      (D) limited; unlimited

(  ) 2. You decide to take a vacation and the trip costs you $2,000. While you are on vacation, you do not go to work where you could have earned $750. In terms of dollars, the opportunity cost of the vacation is

(A) $2,750.    (B) $1,250    (C) $2,000.    (D) $750.
[image: image1.jpg]N w 'S O

Consumer goods (millions per month)

o

i I

i .
10 20 30 40 50
Capital goods (millions per month)




(  ) 3. In the figure above, moving from production at point d to production at point a requires 
(A) technological change.

      (B) a decrease in unemployment.

(C) decreasing the output of consumer goods in order to boost the output of capital goods.

(D) both capital accumulation and a decrease in unemployment.

(  ) 4. Tom takes 20 minutes to cook an egg and 5 minutes to make a sandwich. Jerry takes 15 minutes to cook an egg and 3 minutes to make a sandwich. Tom has a comparative advantage in ________ and Jerry has a comparative advantage in ________.

(A) making sandwiches; cooking eggs

      (B) cooking eggs; making sandwiches

      (C) neither of these activities; both activities

(D) both activities; neither of these activities

(  ) 5. If the quantity supplied exceeds the quantity demanded, then there is
(A) a surplus and the price is below the equilibrium price.

      (B) a shortage and the price is above the equilibrium price.

(C) a surplus and the price is above the equilibrium price.

(D) a shortage and the price is below the equilibrium price.
	 Price

(dollars per bushel)
	Quantity demanded

(bushels)

	8
	2,000

	7
	4,000

	6
	6,000

	5
	8,000

	4
	10,000

	3
	12,000


(  ) 6. The table above gives the demand schedule for snow peas. If the price of snow       
peas falls from $4.00 to $3.00 a bushel, total revenue will

(A) increase because demand is inelastic in this range.

(B) increase because demand is elastic in this range.

(C) decrease because demand is elastic in this range.

(D) decrease because demand is inelastic in this range.
(  ) 7. When marginal cost is greater than average total cost, the

(A) marginal cost decreases as output increases.
      (B) average total cost decreases as output increases.
      (C) average total cost increases as output increases.
      (D) marginal cost does not change as output increases.
	      Quantity

(pounds of cookies)
	Total revenue

(dollars)
	Total cost,

(dollars)

	1
	15
	13

	2
	30
	24

	3
	45
	39

	4
	60
	58

	5
	75
	81


(  ) 8. The table above gives the total revenue and total cost for a perfectly competitive firm producing chocolate chip cookies. If the firm is producing 4 pounds of cookies, to maximize its profit it will

        (A) shut down.    (B) decrease its output.    (C) decrease its output.

     (D) increase its output.
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(  ) 9. The figure above shows a perfectly competitive firm. The firm is operating; that is, the firm has not shut down. The firm is
(A) making an economic profit of $200.

     (B) incurring an economic loss of $600.

      (C) incurring a economic loss of $200.

     (D) making zero economic profit.

(  ) 10. In the long run, a perfectly competitive firm can

(A) only make zero economic profit.

(B) make an economic profit, make zero economic profit, or incur an economic loss.

(C) only incur an economic loss.

(D) only make an economic profit.
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(  ) 11. Interlace, Inc. produces and a unique soda. The company cannot price discriminate. The figure above shows Interlace's demand curve, marginal revenue curve, and marginal cost curve. When Interlace maximizes its profit, the deadweight loss is

(A) zero.   (B) $15,000.   (C) $3,000.   (D) $21,000.
(  ) 12. A trigger strategy is one in which a player

(A) cooperates in the current period if the other player cooperated in the previous period, but cheats in the current period only if the other player cheated in the previous period.

(B) cheats in the current period if the other player has always cheated, but cooperates forever if the other player has ever cooperated.

(C) cheats in the current period if the other player cooperated in the previous period, but cooperates in the current period if the other player cheated in the previous period.

(D) cooperates in the current period if the other player has always cooperated, but 
   cheats forever if the other player ever cheats.

(  ) 13. A free rider problem is created by

(A) public goods.    (B) natural monopolies.  
(C) private goods.   (D) common resources.
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(  ) 14. In the above figure, if no government intervention occurs, at the unregulated     
competitive market equilibrium, the marginal cost of the externality is ________ per unit.

(A) $6   (B) $3   (C) $4   (D) $7

(  ) 15. At high wage rates, the labor supply curve bends backward because the ________ effect dominates the ________ effect.

(A) income; substitution   (B) substitution; income   (C) income; price 

(D) substitution; price
(  ) 16. For a risk averse person, the marginal utility of wealth 

(A) increases as wealth increases.

      (B) remains constant as wealth increases.

    (C) decreases as wealth increases.

      (D) decreases as wealth decreases.
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(  ) 17. In the above figure, what would be the wage paid and quantity of labor employed under competitive market conditions compared to monopsony conditions?

(A) W1 and L1 with competition versus W2 and L2 with monopsony

        (B) W3 and L3 with competition versus W3 and L1 with monopsony

(C) W2 and L2 with competition versus W3 and L1 with monopsony

        (D) W2 and L2 with competition versus W1 and L1 with monopsony

(  ) 18. Which, if any, of the following causes a country's reported GDP to be less than its total economic production?

(A) the inclusion of government expenditures 

(B) the exclusion of government transfers 
(C) the exclusion of household production. 
(D) None of the above cause reported GDP to be less than total production
(  ) 19. If a Lorenz curve moves leftward and becomes closer to the line of equality over time, then

(A) the population is growing.

(B) income is growing.

(C) income is being more unequally distributed.

(D) income is being more equally distributed.
	Item
	Billions of dollars

	Personal income
	1,200

	Net domestic income at factor cost
	2,100

	Government expenditure on goods and services
	400

	Depreciation
	200

	Gross private domestic investment
	100

	Indirect taxes
	600

	Subsidies
	100


(  ) 20. The above table shows some national income accounting data for a nation. In this nation, gross domestic product is equal to ________ billion.

(A) $2,500  (B) $2,000  (C) $2,300  (D) $2,800

(  ) 21. When the economy switches production toward services and away from manufacturing and workers in the manufacturing industry are permanently laid off,

(A) structural unemployment increases.

(B) cyclical unemployment increases.

(C) frictional unemployment decreases.

(D) frictional and cyclical unemployment increase.
(  ) 22. Based on the following data for the country of Tiny Town, the unemployment    
rate equals:

Population = 100

Labor force = 80

Number of employed persons = 70

Number of discouraged workers = 5
(A) 15/80 × 100.   (B) 5/70 × 100.   (C) 10/100 × 100.   (D) 10/80 × 100.

(   ) 23. If the CPI was 132.5 at the end of last year and 140.2 at the end of this year,     
the inflation rate over these two years was
(A) 5.4 percent.   (B) 4.4 percent.   (C) 7.7 percent.   (D) 5.8 percent.
(  ) 24. We are interested in long-term growth primarily because it bring

 (A) lower price levels.
       (B) higher standards of living.
(C) higher price levels.
       (D) trade wars with our trading partners.
(  ) 25. Suppose that in 2013 a country has a population of 1 million and real GDP of $1 billion. In 2014, the population is 1.1 million and the real GDP is $1.1 billion. The real GDP per person growth rate is
(A) zero.   (B) negative.   (C) positive.   (D) $1000.
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